RN DIDLRL0) Bicb : A =
BPYFRERLF B | 2

04—k 23z

| 1000m% I1F0OX— kLW, Tkm (FOX—FJL) rESE 9,
ENEBOY AR YEET Y 2121, kmOEAVEF VT T,

kmOZEXH2BELZILL5. OTVFIEIRFYEL LS, )

2 ;/’%@%i‘%km%&ﬁ'f%bibi:)o (")Tmiti wZxYFLLI, )

@O 3000m
km m
%3 ( )
@ 5140m
km m
%z ( )
@ 4020m
km m
%3 ( )

@ HeR % @“@?%’@3%@?%@



RN DIDLRL0) Bicb : A =
BrPTBERLE B oss

*oit—FpriL

| 1000m% I1F0OX— kLW, Tkm (FOX—FJL) rESE 9,
ENBOY A YEET Y =121, kmOEAWEBNT T,

kmOZEXH2BELZILL5. OTVFIEIRFYEL LS, )

2 fj’:\m%?%km%%v’(%bib;’)o (")fn\itat wZxYFLLI, )

@ 3000m

31000 %3 ( 3 km )
@ 5140m

5111410 3 ( 5km |1 40m )
® 4020m

41020 23 (4 km20m)

@ R EX % @“@?@@%@k@





